- e A G el
» IFIED. TH MA' U HE ASSEMB W.W.S. W.W.S.
GENERAL NOTES: HINGE REQUIREMENTS 75" MAX. FRAME WIDTH JAND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY |[Fiow: ; oRE
4 1=24 12/13/10
1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED MAX. FRAME QUANTITY STRIKE SCREWS INTO SUBSTRATE (3 E?EI@Ep‘é?,%%c?ﬁﬂ%’?‘éb&%”@ﬂh‘éca‘;nﬁmﬁa =TT -
ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. HEIGHT PER PANEL ) - STATED ON_THESE DRAWINGS. M IS
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & . PER STRIKE PLATE). SEE "FRAME HRHEHE
I;ISTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. 119.5 6 ANCHOR REQUIREMENTS TABLE” ON olalsls
. THESE LARGE MISSILE IMPACT RATED PRODUCT INSTALLATIONS ARE IN " '
ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE FLORIDA BUILDING CODE 107'875” 5 THIS SHEET FOR SCREW SHHEE
(FBC). 99.375 4 REQUIREMENTS (HEAD & SILL) HEHE
4. ALL ANCHORS SECURING PRODUCT FRAMES TO PRESSURE TREATED BUCKS OR 83.875" 3 2l
WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE : 6" MAX. —— ol om — = 5" MAX | £|8
PRESSURE TREATING CHEMICALS IN THE WOOD. : 676 I HE
5. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO D N | | N EHEHE
CONTACT WITH OTHER DISSMILAR MATERALS SHALL MEET THE REQUIREMENTS OF INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR STANDARDS [V < /ﬁﬁ"“ am— Sl=]=|8
FLORIDA BUILDING CODE CHAPTER 20. FORMAT R TS FR PP TEST REPORTS. TH ” GlEl"
6. TO THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREIN IS CERTIFIED & ?Fgéltgg é“&.fmﬁé '8302? VEERSS%NS cor?s“foéﬂaé‘%?hsm%s EVALUATIOSN WASE b \/ il A / d 6 MAX e HHE
QUALITY ASSURED BY A FLORIDA STATE APPROVED CERTIFICATION/QA ENTITY & SHALL | THAT IN FORCE AT THE TIME OF THE EVALUATION. IN THE EVENT OF H L .f Slolele
BE LABELED IN ACCORDANCE WITH THE FBC AND THE FLORIDA DEPARTMENT OF CODE VERSION CHANGES/UPDATES OR IN THE EVENT THAT NEW OR % I N\ | HNE
BUSINESS & PROFESSIONAL REGULATION SPECIFICATIONS. PRODUCT ASSEMBLY IS NOT | ADDITIONAL TESTING IS COMPLETED ON THE REFERENCED PRODUCT, PRIOR l | STRKE FRAME SCREWS OR INSTALLATION HdHBE
PART OF THIS DRAWING AND SHALL BE IN ACCORDANCE WITH THE MANUFACTURER'S TO STATING CODE COMPLIANCE WITH THE STATE, THE MANUFACTURER | 1 LATE CLIPS WHERE SHOWN. SEE "FRAME 5|5(s
QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. SHALL CONFIRM WITH THE INSTALLATION EVALUATION ENGINEER OF RECORD / | \ OPPOSITE " Si=T=1=
7. CERTIFICATION OF THESE PRODUCT INSTALLATIONS SHALL BE CONSIDERED VOID If | THAT THE INSTALLATIONS SPECIFIED HERE-IN ARE CURRENT WITH THE ﬁ;\F | C ANCHOR REQUIREMENTS TABLE"™ ON Zj=j2j°
ANY OF THE FOLLOWING APPLY: 1) PRODUCT IS INSTALLED WITHOUT A BUILDING THEN CURRENT TESTING, CODE AND APPLICABLE STANDARDS. : NCYA < / \ N, [~ THIS SHEET FOR REQUIREMENTS
PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT. 2) PRODUCT IS ! | I (CLPS ARE NOT APPLICABLE AT SILL)
INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH | ‘ | .
INSTALLATIONS OF THIS TYPE OF PRODUCT. 3) IF CHANGES HAVE OCCURRED TO THE [ ANGHOR/SURSTRATE EVALUATION NOTE: _ b | 4 HINGE SCREW INTO SUBSTRATE (1
PRODUCT'S CERTIFICATION ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO ALL ANCHORS IN THEIR SPECIFIED SUBSTRATES HAVE BEEN ju s ‘ "
8. THE LEAST DESIGN PRESSURE SPECIFIED EITHER IN THIS DRAWING OR IN THE AND. ARE FOUND TO BE CAPABLE OF SUPPORTING ALL LOADS L:;:J REQUIREMENTS TABLE" ON THIS S prd
PRODUCTS CERTIFICATION SHALL CONTROL FOR THE INSTALLED PRODUCT, IMPOSED ON THEM UNDER THE GUIDELINES OF THIS DOCUMENT ' i | SHEET FOR SCREW REQUIREMENTS 3 o L—Jmo
9. THESE DRAWINGS CERTIFY THE PRODUCT INSTALLATION ONLY. WATER PROOFING OF | ANy SUBSTRATES OR CONDITIONS OUTSIDE OF WHAT IS SHOWN w 4& / | ! : Eu-s
THE INSTALLED PRODUCT IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT HEREIN SHALL BE SUBJECT TO JOB SPECIFIC ENGINEER'S = F HINGE = = rNS
RESPONSIBILITY SHALL BE THAT OF THE MANUFACTURER &/OR INSTALLER. REVIEW & CERTIFICATION. e l NAIL FIN AND ANCHORING OF NAIL -} Q v
. l I FIN IS OPTIONAL & SHALL NOT ACT (I € zxg
o z<
= | | AS A SUBSTITUTE FOR THE FRAME Sl o < .o
= ANCHORS SPECIFIED. FIN MAY BE zE =<1
CONDITIONS SHOWN ON THIS DRAWING ARE | = B | I CEMOVED WHEN REGUIRED BY N I c\é;
GOVERNED BY INSTALLATION REQUIREMENTS| < I | | OPENING CONDITIONS 63| o Sie
FRAME ANCHOR REQUIREMENTS TABLE ONLY. THE GOVERNING CONDITIONS ON ANY| | \ i / l , P
OPENING TYPE FRAME/CLIP TO OPENING minium| minmum | | SPECIFIC DOOR SHALL BE THE LESSER OF 2 N * d i ga o
(SUBSTRATE) , FASTENER TYPE EMBED |EDGE DIST.| | THOSE SPECIFIED IN THE DOORS STATE - ’ \ l / I o W .
FRAME/SILL SCREWS SEAP;’%\@SL OR THAT SHOWN IN THESE H T i B g 16" MAX. O.C. §m§
. Z|
) MIN. (z,jff,‘ %%?03 Fﬂio?gs)wc'( NO. 10 SMS OR WOOD SCREW 11/4" | 3/4" | \ | / | (SIDES) (? g 2
MIN. 18 GA. 33 KSI METAL STUD NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" P STRIKE | / i } 53 —
MIN. 1/8" THK A36 STEEL NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" | PATE N2 | ] % [ o2 3
MIN. 1/8" THK 6063-T5 ALUM. NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" INSTALLATION NOTE: il \ ‘ f[ / | 5 t;') Z
(2) MIN. C-90 CMU (1) 1/4" CONCRETE SCREW 11/4" 2" WHEN NECESSARY, INSTALLATION 4 -d i Eg %‘0 )
MIN. 2500 PSI CONCRETE (1) 1/4” CONCREIE SCREW 12 2 METHODS MAY BE MIXED WITH N % 6" MAX o 238:3,
» . s -
HINGE_SCREWS ANY ONE DOOR SUCH THAT = = | 1 28] 2,83
B N GR. 3 & 6-055) NO. 12 SMS OR WOOD SCREW |1 1/4" | 3/4" INDIVIDUAL SIDES OF THE DOOR W <q| o B
VN, 18 GA 33 KSl VETAL STUD | NO. 12 GR_ 5 SELF TAP/ORILL SCRew| Full | /7 XQEHL(J)??E MC:EB;E!O%R ESAE\MgEEET_EFT SILL SCREWS WHERE SHOWN. SEE §8 S5 381
. MIN. 1/8" THK A36 STEEL NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" SIDE MAY USE CU& METHOIE) v EXTERIOR ELEVA-”ON‘ ”FRAME ANCHOR REQUIREMENTS E g Eé 30_3:28
MIN. 1/8" THK 606315 ALUM. | NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL | 1/2" WHILE OTHER SIDES USE FRAME DOUBLE RECTANGULAR DOOR TABLE" ON THIS SHEET FOR Ly |, 23 8%
MIN. C—90 CMU OR 2500 PSI CONCRETE| (1) 1/4" CONCRETE SCREW 11/4" I SCREWS) . . _ SCALE: 1/2" = 1'=0" REQUIREMENTS. = 28% gB2
STRIKE SCREWS g §8 ,\g
w
O N s & oeatsy NO. 8 SMS OR WOOD SCREW |1 1/4™ | 3/47 ALLOWABLE DESIGN B
MIN. 18 CA. 33 KSI METAL STUD | NO. B GR. 5 SELF TAP/DRILL SCREW | FULL | 1/2° PRESSURE
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" (DOUBLE SWING DOORS) ;J
MIN. 1/8" THK 6063~T5 ALUM. NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2° o~ .
@) MIN. C-90 CMU () 3/16" CONCRETE SCREW Rz RS Fmi(ﬂ‘E ALLOWABLE PRESSURE = =8
MIN. 2500 PSI CONCRETE (1) 3/16" CONCRETE SCREW 1 1/2" 2" it Wy
HEIGHT > -
INSTALLATION CLIP_SCREWS (N P ?Eg;‘)’*z NE(‘;’;TF';’E Zs
MIN. 2X6 WOOD FRAME OR BUCK 0. B SMS SCREW 1 3/8" ‘ 34" — ) 24
(MIN. GR. 3 & G=0.55) NO. —! 119 1/2 50 50 s
MIN. 18 GA. 33 KSI METAL STUD NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" EDGE DISTANCE MAY BE 95 1/2 70 70 X v
MIN. 1/8” THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" " N
i T R. 5 SELF TAP/DRILL SCREW | F 1/2" DECREASED 10 1/2° IF
(1)cg:‘cagg szziw?es;i ';;Uzu:o UL:ROAC?)N(; ELCO ERETE /FLEX mw RAMSET/I:?L(-ILD SCREWS ARE ANGLED 15 DRAWING NO.
HEAD TAPCONS OR HILTI KWIK—CON Il (HARDENED STEEL OR S.S.). TO 20 DEGREES AWAY 1730
(2) CMU IS APPLICABLE AT SIDES ONLY. FROM THE EDGE. SHEET NO
(3) 2X6 BUCKS MAY BE RIPPED DOWN TO MIN. 4 1/4” DEPTH EXCEPT WHEN THE 1 o ' 4 "
INSTALLATION CLIP_CONDITION APPLIES. _




STRIKE SCREW INTO SUBSTRATE (1 PER
STRIKE PLATE). SEE "FRAME ANCHOR

REQUIREMENTS TABLE” ON SHEET

1 FOR

SCREW REQUIREMENTS (HEAD & SILL)

|37 7/8" MAX. ___|
FRAME WIDTH

6" MAX. — }—— @ - 6" mAx.

V—"""""”""'"?—

P4 V.

/

/l

6" MAX.

- e

*

v

\\ OPPOSITE

FRAME SCREWS OR INSTALLATION
CLIPS WHERE SHOWN. SEE "FRAME
ANCHOR REQUIREMENTS TABLE" ON

P

SHEET 1 °'FOR REQUIREMENTS (CLIPS
ARE NOT APPLICABLE AT SILL).

i it

3

o

119 1/2" MAX. FRAME HEIGHT

-———A--—-Iq‘l\V—L

HINGE SCREW INTO SUBSTRATE (1

PER HINGE). SEE "FRAME ANCHOR
REQUIREMENTS TABLE” ON SHEET 1
FOR SCREW REQUIREMENTS.

NAIL FIN AND ANCHORING OF NAIL
FIN IS OPTIONAL & SHALL NOT ACT
AS A SUBSTITUTE FOR THE FRAME
ANCHORS SPECIFIED. FIN MAY BE
REMOVED WHEN REQUIRED BY
OPENING CONDITIONS

16" MAX. O.C.
(SIDES)

Y =V g g g — — g ey —

—+
D

STRIKE SCREW (1 PER JAMB
LOCK STRIKE). SEE "FRAME
- ANCHOR REQUIREMENTS

6" MAX. TABLE” ON SHEET 1 FOR

f REQUIREMENTS

|{DRaWN BY:
W.W.S.

JCHECKED BY:
W.W.S.

DATE:
12/13/10

DATE

BY

REVISION DESCRIPTION

NO.

“/
SILL SCREWS WHERE SHOWN. SEE

"FRAME ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR

: REQUIREMENTS.
EXTERIOR ELEVATION:

SINGLE RECTANGULAR DOOR

SCALE: 1/2" = 1'=0"

ALLOWABLE DESIGN

PRESSURE
(SINGLE SWING DOORS)

MAX. ALLOWABLE PRESSURE

FRAME
HEIGHT | POSITIVE | NEGATIVE
(IN.) (PSF) (PSF)
119 1/2 50 50
95 1/2 70 | 70

37 7/8" MAX. ___|
FRAME WIDTH
6" MAX. — fv ——1 . 5" MAX
e 4
1 / 4 6" MAX
N 7 LT
I 7 T FRAME SCREWS OR INSTALLATION
| OPPOSITE CLIPS WHERE SHOWN. SEE "FRAME
/A\D T\ ANCHOR REQUIREMENTS TABLE” ON
CJIMTY  &J T[T SHEET 1 FOR REQUIREMENTS (CLIPS
ARE NOT APPLICABLE AT SILL).
. L FIXED d‘
© | f OPTIONAL NAIL
= M /FIN (REF.)
s i
2
) | (
>
< l |
R P d
oN
N l |
~ l !
()]
= H j_t
; : 16" MAX. O.C.
(SIDES)
| !
P 9 !
| yall
I |
b 4___{_
| | 6" MAX.
° 4 i f
SILL SCREWS WHERE SHOWN. SEE

"FRAME ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR

REQUIREMENTS.
EXTERIOR ELEVATION

SINGLE FIXED PANEL

SCALE: 1/2"=1"-0"

ALLOWABLE DESIGN

PRESSURE
(FIXED PANEL DOOR)

WAX) | ALLOWABLE PRESSURE
FRAME

HEIGHT | POSITIVE | NEGATIVE
(IN.) (PSF) (PSF)

119 1/2 50 50

95 1/2 70 70

> TTLE PEL LA ARCHITECT OUT—

SWING IMPACT ALUMINUM CLAD
MANUFACTURER

PELLA CORPORATION

o

102 MAIN STREET
PELLA, 1A 50219

641-621-1000

WOOD DOOR INSTALLATION REQUIREMENTS

CONSULTANTS

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

7480 150TH COURT NORTH

PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

. SCHAEFER, P.E.
NO. 44135

DRAWING NO.

1730

SHEET NO.

2

OF




STRIKE SCREWS
PER ELEVATION -

.

FRAME SCREW PER ELEVATION

(SCREW HEAD MAY BE
POSITIONED AT THE STOP OR

AGAINST THE .JAMB)7 Y
N e L

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE"

FRAME SCREW PER ELEVATION

(SCREW HEAD MAY BE
POSITIONED AT THE STOP OR

~ AGAINST THE JAMB)

3
R £

Te

SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR
~, REQUIREMENTS
L TABLE”

3/8" MAX. 3/8” MAX.
2 7 SHIM AT -
2 EACH ANCHOR EACH ANCHOR
OTHERS
=
= SEAL SPACE WITH LOW
EXPANSION FOAM
AROUND PERIMETER
1 OF DOOR FRAME - NAIL FIN IS NOT
[EXTERIOR] [EXTERIOR] SHOWN BUT MAY BE
USED IN ADDITION
TO ANCHORS
SPECIFIED.

1T1
_J

i y
d
2]
L

IKENANY
L

FRAME HEIGHT

c\f” '

FRAME HEIGHT

~t

‘

PER ELEVATION

SUBSTRATE BY OTHERS

STRIKE SCREWS

PER "FRAME ANCHOR
REQUIREMENTS TABLE"

SECTION

<COUOEOTY

Y

(A

SCALE: 1/2 FULL \3/

VARV
SHIM OR GROUT

FRAME/SILL SCREW
PER ELEVATION

FRAME SCREW MOUNT SHOWN. SEE DETAILS ON
SHEET 4 FOR DIRECT MOUNT & CLIP MOUNT DETAILS.

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE"

SECTION 5
SCALE: 1/2 FULL 3

X
ey
LTIy,
g
. ..:
AN
Ny
EERE
o
[
. h'

\ FRAM

PER

&

CANNNNir Y

T /4" X,

.- 3
a2
B

SHIM OR GROUT ~

E/SILL SCREW
ELEVATION

FRAME SCREW MOUNT SHOWN. SEE DETAILS ON

SHEET 4 FOR DIRECT MOUNT & CLIP MOUNT DETAILS.

3/8" MAX. SHIM __|
AT EACH ANCHOR

SUBSTRATE BY —
OTHERS PER 7.
"FRAME ANCHOR. "~
REQUIREMENTS ~-.*
TABLE” 3

e

FRAME SCREW——2
PER ELEVATION ..
(SCREW HEAD ..
MAY BE
POSITIONED AT -
THE STOP OR &
AGAINST THE -

JAMB) S

R
st
8

FRAME WIDTH

| ———— SEAL SPACE WITH LOW
EXPANSION FOAM AROUND
PERIMETER OF DOOR FRAME

i

CHECKED BY:

WW.S.

DATE:
1=2 12/13/10

|

HINGE SCREW —/ '

PER ELEVATION -

3/8" MAX. SHIM
AT EACH ANCHOR

SUBSTRATE BY —-—
OTHERS PER ...
"FRAME ANCHOR. -~
REQUIREMENTS - *
TABLE”

FRAME SCREW—==
PER ELEVATION .-s
(SCREW HEAD .
MAY BE L9
POSITIONED AT =

THE STOP OR .- |

AGAINST THE

= [
I
T
;{ L n—
©
SEALANT BY OTHERS
SECTION 2\

SCALE: 1/2 FULL \3/

FRAME SCREW MOUNT SHOWN. SEE
DETAILS ON SHEET 4 FOR DIRECT
MOUNT & CLIP MOUNT DETAILS.

FRAME WIDTH

| ——— SEAL SPACE WITH LOW
EXPANSION FOAM AROUND
PERIMETER OF DOOR FRAME

TR

[

REVISION DESCRIPTION

JAMB) /
STRIKE SCREW—7 | o s

PER ELEVATION -

m
>
o
m
|2
ol

SEALANT BY OTHERS

SECTION 7\
SCALE: 1/2 FULL \3/
FRAME SCREW MOUNT SHOWN. SEE

DETAILS ON SHEET 4 FOR DIRECT
MOUNT & CLIP MOUNT DETAILS.

NO.

WOOD DOOR _INSTALLATION REQUIREMENTS

"t PELLA ARCHITECT OUT—

W. W. SCHAEFER ENGINEERING

213

O Q Log
= LIJ("\"‘O

o O nNnT

zZ | !

= o Zﬁm

o ) O < .0

-1 ES;

< 5 ~Os

= wY

QF| m Sa©

o [+

=

[©]

Z

=

[72]

MANUFACTURER

& CONSULTING, P.A. (CA 6809)

PHONE: 561-744-3424

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418

. J CONSULTANTS

SCHAEFER, P.E.
NO. 44135

W.
LE.

=~ BRAWING NO.

1730

SHEET NO.

3 or

4




DRAWN S‘Y: CHECKED BY:
] . WS, WS,
3/8" MAX. SHIM FRAME. WIDTH DER ERAME ANCHOR. INSTALLATION CLIP SCREW PER "FRAME Iam:f S
AT EACH ANCHOR REQUIREMENTS TABLE” ANCHOR REQUIREMENTS TABLE" (2 PER = ALAL
CLIP ANGLED 15 TO 20 DEGREES IF N
gﬁg;gATPEERBY—ff } STRIKE/HINGE SCREWS PER NECESSARY TO MEET EDGE DISTANCE F
"FRAME ANCHOR. " | seaL space wit Low  EEEVATONS T\, REQUIREMENTS) -
REQUIREMENTS = EXPANSION FOAM AROUND T 1 i AN N e e e T R &
TABLE" PERIMETER OF DOOR FRAME |[*
' z
3/8" MAX. 8
,.4: .41 E
FRAME SCREW—-= SHIM AT CLIP :
PER ELEVATION ..+ - o °
(SCREW HEAD .| i SEALANT BY = , 3
MAY BE OTHERS g
POSITIONED AT =%
THE STOP OR o S
AGAINST THE -’ . INSTALLATION IE
JAMB) PR ) o CLUP
. NO. 8 X 3/4"—U .
SCREW (2 PER
SEAL SPACE WITH
EXTERIOR CLIP) D EXPASION o |-
FOAM AROUND S
ALANT BY OTHERS CAIEROR PERIMETER OF o | E ulg
SEALANT BY OTHE A, DOOR FRAME 3 §E§9
SECTION ) z o 9
z |z __!
SCALE: 1/2 FULL \ &/ INSTALLATION CLIP DETAIL =M EERY
. -~ = = “
FRAME SCREW MOUNT SHOWN. SEE CLIP_INSTALL NOTES: <2l < 2
DETAILS ON THIS SHEET FOR DIRECT 1) HEAD SECTION SHOWN. CLIP IS INSTALLED THE SAME AT THE SIDES. 5= = EEO
MOUNT & CLIP MOUNT DETAILS. 2) INSTALLATION CLIP IS NOT APPLICABLE AT THE SILL. §§ o
, 3) FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS. 23
o
= 3]
NAIL FIN IS NOT %gg
CONTINUOUS WOOD MEMBER LESS ‘ SHOWN BUT MAY BE 5"5 S
IN THICKNESS THAN A 2X_ BUCK USED IN ADDITION °4 -3
TO BE MIN. 4 1/2" DEEP (NOT _ 5 28
REQUIRED WHEN SHIM SPACE IS SUBSTRATE BY OTHERS TO ANCHORS shl 28
WITHIN ALLOWABLE DIMENSIONS PER "FRAME ANCHOR SPECIFIED. E-l| g .3
SHOWN IN SECTIONS). REQUIREMENTS TABLE” Tl 285,
23l 2<%
' 6.187 TO 8.187 Yo Eyy
| ' | 38| H 88l
o O o} O o] [2 %5 85‘“
SEALANT BY 53 “82
OTHERS O o O o o o @ | 1875 E [E2z%°
= 220 &
EXTERIOR o o o o ° ) : g;‘«a
STRIKE/HINGE SCREWS j
PER ELEVATION & FRAME SCREW PER u
"FRAME ANCHOR ELEVATION & "FRAME __/_,W BENT PORTION OF CLIP MAY BE SNIPPED OFF 0,052 — o
REQUIREMENTS TABLE" ANCHOR REQUIREMENTS IF A NAIL FIN IS TO BE APPLIED TO THE DOORs Y- ek
TABLE" Eey
A, (1) ERAME_INSTALLATION CLIP gg
(50 KSI STEEL) iy
OPTIONAL DIRECT MOUNT DETAIL Rae
&
_ TO SUBSTRATE WITH SPACER Y
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME) ‘ 1 =
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) DA% ONO. 'EEE/"
SHEET NO.
_ ~ 4 o 4




